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On maximizing o product

The probolem is Yo construct o seb o? Fos‘:}we
'm¥e3e.rs with a'wen sum Sudh thot Fheir ?roc\uc\

1S Gs \arse, as ]ooss'lHe..

The {I‘rs\ observotion s that we need nor include
in‘esers 24 . The reason 18 thal such an ‘m\'e&er
k con be. r'eP\O.c.ed) WEH';ou\ c‘n Qn&'ms the Sum, \03
Yhe., Ywo ‘m*egers 2 ond k-2 , thereb re.P\G»c-
'ma in the Procluc‘ [~ -()oc\‘o:- & \:‘:j Cn acror
2-k -4 and “ﬁo\" we dont lose 1? 2-k-4 3\",

e, \() \(){4“

The second observation is thol 4 On\:) needs
to be included ‘u? ¥ is the on\:) ‘wﬁeger "n Yhe seb,
e ‘\? Yhe 3'1\/?71 3Sum e.o,uo\s 1 . 1n C\“ 0\'»1423‘ coses
we can Increase Yhe product withoul C\no‘“ﬁinﬁ
he sum bb removing, the 1 (which does no} con-
Yribule Jo the proc\uc}) and ‘mcreas'ms one o? bhe

other ‘m‘e\geﬁ \03 1

Tn Yhe ceneral case this leaves us with o sel}
2s and 3s. The g)‘mo\\ observetion i1s Yhol we

don'} Need )ro ‘mc\ude 3 or more 2 . 2+2+2=
3+3 huat 2-2.2<3.3

* o

*

We solved this Prob\em o number og) yeors
A90 (ond were not ¥he ?’.rs\- Yo do .So),, bul in
m memor:) *\ne, QrSumen*‘ was \ess c\ea‘n Hnan
Yre obove. 1} was more or less ?o\\u)rec\ \o.n
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‘he circums\ronce -\\na\ Yhe onswer 1S not un}c\ue
i? Yhe giwven sum is o? the ?orm 3n +4 :lwo
2's may be rep\acec\ bfﬁ one 4 .

Brnother Wau o{) comp\ico&m +the ?urs)f observo-
hon 15 Jo treat even ond odd vaolues sepc‘ro}e\b,
Q.a. COMPOriHS ?0" \<=2-x -“’)e vo\ue 2K \ﬁw“\ Xz
ond @:r k=2x+1 the value 2.x+41 with x-(x+1).
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